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LEER KE=ZTH 7:15 31.0 440 39.0 34.0
HLEER HE=ZTH 7:33 48.5 43.0 55.0 58.0
LEER *E=TH 7:51 40.0 43.0 61.0 28.0
HLEER HE=ZTH 8:15 72.5 66.0 63.0 94.0
LEER *E=TH 8:35 60.0 65.0 67.5 88.0
PHELIN AEBE=TH 8:56 435 38.0 32.0
N Et 295.5 299.0 317.5
fLEIER ATR 16:58 25 1.0 2.0
HLEER ATR 17:35 6.0 12.0 7.0
fLEER ATR 17:45 0.5 1.0 1.5
HLEER ATR 18:58 2.0 40 45
LR ER ATR 19:18 7.5 8.0 7.0
N Et 18.5 26.0 22.0
ERFEAE 314.0 325.0 339.5
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A A
FXEMT B|HREER 6:50 8.0 5.0 10.0
AEMTH|IHREER 7:.05 16.5 15.0 25.0
N Et 24.5 20.0 35.0
FXEMT B|HEER 17:21 24.0 39.0 26.0
FXEMT B|HREER 17:55 43.0 31.0 54.0
FXEMT B|HEER 18:06 15.0 15.0 39.5
FXEMT B|HREER 18:35 20.0 31.0 27.0
FXEMT B|HEER 18:54 7.0 12.0 18.0
FXEMT B|HREER 19:18 20.0 17.0 13.5
AEMTH|HREER 19:40 11.5 4.0 5.5
N Et 140.5 149.0 183.5
ER{T&Et 165.0 169.0 218.5
HEH T 305108 108198 (£).228 (A) DFH(2HM)
SHITE6H 68148 (K) (FEERTOHORBEABEDHA)
SHTEI0R 10825H (£).288 (B) DFH(2HM)
SHTEI12A 128238 (A) (HEERTOERAHDH)
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